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OZUFX 2=0HAA QIMEIEXZ
10,0002 *300X 3,000
T NMEIEH HA 2 17,000 17,000 0
201 B2 AL 3,500 3,500
01 A=R2teld| 3,500 3,500
OF= MEIENHHA 28 3,500
—NEISO 25 2122 R
2003 +5,0000H 1,000
—Xtg BT DR
1,500,000 *14] 1,500
—=S8 9 50,0003 * 104! 500
—ANEIEN 28 2220
500,000 *13l 500
301 LPENZ 13,500 13,500
14 J|EI2 A3 13,500 13,500
O&== AEIS0HA 29
450,000 *303] 13,500
SN EAN SH(HEAIY) 103,790 92,600 11,190
201 B2 AY| 1,250 350 900
01 A=R2teld| 350 350 0
O=2Zof&Al RAd-E &L 2EXA
70,0003 *5H 350
03 &At2ZH] 900 0 900
O=2st2 oAt W=H|
450,000 23| 900
301 LPENZ 102,090 9,250 9,840
11 HAIAHIXIAZ 3,690 3,690 0
O=Zst2tZof AL AL FAH|
36,9003 =108 103! 3,690
14 J|Et2 &2 98,400 88,560 9,840
O=2st2 &AM 2E XA 98,400
— st A ESH|
60,000 =121 &+ 10 13 93,600
— =t oAt II=H|
400,000& 10X 4,000
—ZtENEA AEE =
80,0003 * 10X 800
405 KHHESH| 450 450
01 ML =EFSHI 450 450
Ot 2o AL &l offd ¥
150,000 3% 450
ZEEOHAM A RS (M EALY) 50,000 50,000 0
T 25,000




A 2aMs2Z
N pRAE
el BENAER (ol m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 25,000
401 AIEHIX 20 50,000 50,000 0
=S 25,000
s 25,000
01 AlZ8| 50,000 50,000 0
OZZHHEXHEX X 2= 50,000
< 25,000
Ea 25,000
22 018 At 19,000 23,000 24,000
= 5,700
o 13,300
201 er2 3| 19,000 19,000 0
= 5,700
o 13,300
01 AtR2t2|HI 9,000 9,000 0
o233l &= & 2= HH
9,000,000& *14] 9,000
< 2,700
[Ea 6,300
03 A= EHI 10,000 10,000 0
Ok-Al2 ss2Z01E X&
10,000,000& » 14 10,000
= 3,000
Ea 7,000
Ot Mga2td 2= g & 29 150,000 0 150,000
== 90,000
o 60,000
201 223 60,000 0 60,000
< 60,000
01 AtR2t2|HI 30,000 0 30,000
OooRt23d=s 28 S 30,000
=S 30,000
03 A= SHI 30,000 0 30,000
OO0f2t Mg2a2d = e 30,000
= 30,000
401 AIZHIZ SO 90,000 0 90,000
= 30,000
o 60,000
01 Al&H| 90,000 0 90,000
OO0Rt Mg2ad Ald &4 90,000
= 30,000
o 60,000
Aelatz 2 X oje 456,893 226,893 230,000
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2A:

E M

X=]

Sstl=2& 1t
ADXE

: Ilal/\r;u 22X OHe

SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
Klelar 22 et 52,069 52,069
308 AHXIHMSOIH 52,069 52,069
07 RXISH22E2 52,069 52,069
OXl2|larAHZ 2N RS 23 52,069
Kelard e Mstisl &2 10,000 10,000
201 B2 AY| 10,000 10,000
03 A2 G| 10,000 10,000
OHMIe2l Xelatd M=Oisl &t 10,000
Nelatd 2200l 2 42,000 42,000 0
308 AXISHMSOIH 42,000 42,000
07 RIXISHH2E2E2 42,000 42,000
OXlelatd 2tZototdiol 22 42,000
Kelatd A 2ZAEN 8,333 8,333 0
308 AXISHMSOIN 8,333 8,333
07 RXISHH2R2E2 8,333 8,333
OXlelatd 22 ASHY 8,333
Kelatd 2Bt ALY 13,525 13,525
308 AXISHMSOIA 13,525 13,525
07 RXSH22e2 13,525 13,525
OXlelatd 22HE3E AP 13,525
Aelad 22ILIHY 29 5,300 5,300
308 AXIEHMSOIN 5,300 5,300
07 XIXISHHZ2tRE 2 5,300 5,300
OXlelatd 2Z2LIHE 22 5,300
Kelatd HZAE =2 30,000 30,000 0
308 AHXIHMSOIH 30,000 30,000
07 RXISHN22E2 30,000 30,000
OXlelatd 2t A4F 558 30,000
Kelatd sS4 SS0HHE X 6,666 6,666 0
308 AXIHMSO0I& 6,666 6,666
07 RXSH22Ee2 6,666 6,666
OXl2litd sE4at2 SSOHHEXIR 6,666
Nelatd AQtE2E 2E= Y 230,000 0 230,000
308 AXIEHMSOIN 230,000 230,000
07 RIXISHH2E2E2 230,000 230,000
OXlelard AQtEZZ ZEI=x Y 230,000
SEIE & SOtAIY 22| 59,000 59,000
308 AHXIHM SO0 & 59,000 59,000
07 X SH2IRES 59,000 59,000
OZeolel & HotAtY &2 59,000
NE=M &E 1,320,721 1,070,284 250,437
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SN 2SHSBBIL
33 NgG=H &8
=Rl =M 243 2 82 =M (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
=N 243 & g2 =M 1,190,721 1,070,284 120,437
SHAE =& apt 44,841 29,404 16,437
201 er23| 37,389 15,696 21,693
01 At2teltl 27,500 7,000 20,500
OS2 =gl Ns
8,000 6 +62.5& 3,000
OgYR=al 2t M
60,0002 502 3,000
OZdZed gxz Xs 1,500
O=NEE=2Z M 2,00024%10,0007H 20,000
02 S3=gl 9,889 8,696 1,193
OFMAIRY QI & Hates
60,000 1CH* 122 720
O=H=& *FH| 1,9212 %4002 & 769
Osteg Atltg EME M=
700,000 * 122 8,400
202 04l 7,452 13,708 A\6,256
01 =LHOHI 7,452 13,708 6,256
O=HZE g2 =& 3,600
~EHFEY 92 27
80,0002 *x3Z 12042 2 2,880
~EHTE TFY 2L =X
80,0002 *3Z+3 & 720
OEtAIZ =Hl #IXI0Hd 04|
60,0002 x6 & +3 1,080
OZergs 4 250,000 x3H =23 1,500
OFM 22 F0¢ 53,0003 x2&*6 5 «22] 1,272
stee Atute =H A 1,050,000 950,000 100,000
307 lztol & 1,050,000 950,000 100,000
04 CIZHHAMAIRH 2 & 1,050,000 950,000 100,000
OZAEHLYADVYSH K2
1,050,000,000& » 14 1,050,000
SNEE =&l 0t 21,000 21,000 0
201 ger=3| 21,000 21,000
03 A= 21,000 21,000
OFHMEE w&sl Fot
7,000,000 *32 21,000
SHEIHACHR! FEALY 9,880 9,880
308 XXM SO0IH 9,880 9,880
07 AX L FE= 9,880 9,880
Od=F0A 29 9,880
o &2 M X2 65,000 60,000 5,000
307 el2to| & 65,000 60,000 5,000
04 QIZIHAIALE 2 & 65,000 60,000 5,000




2A: ZtHs2F
M NEsH ME
el =X 243t 2 22 =4 (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
O&==I10F ZEUEE &AM
20,000,000& 14! 20,000
O&tA 2XI00 =HI 15,000,000 14 15,000
O=IHet &Mt HEZ =l
15,000,000 & 14! 15,000
OH=E RELE A
15,000,000& 14! 15,000
I3 AAl 130,000 0 130,000
JEZH =& 130,000 0 130,000
201 Ler2 | 130,000 0 130,000
03 A2 | 130,000 0 130,000
OoJlglsd 20,000,000%32! 60,000
O=ztsd 35,000,000%23| 70,000
S3TAS &5 & 29 424,592 239,602 184,990
s 14,000
= 16,500
= 394,092
SM23s &E 424,592 239,602 184,990
= 14,000
= 16,500
= 394,092
TN 2E 183,861 105,177 78,684
201 B2 AL| 149,061 72,297 76,764
01 ArR222ltl 34,433 21,336 13,097
OF=)| gtz 53,900& «x3CH+12& 1,941
OZJ1EEI| Xz
32,0003 «6CH* 123 2,304
OvIEF=EE Na 144,000 *43| 576
OEAM2 M2 2 AIdE 22| A2 2
o 4,000
O= M2 sZE| 200,000&*10& 2,000
O=g)l gtz 110,000 = 1CH =122 1,320
OZ M2 ASXF Xt Xt
700,000 x1CH* 12 8,400
O EMZ cotv FIH &X
3,500,000 14 3,500
O=g A2 2t8 D =9 JIZ
4,500,000 14 4,500
O=tl 8,000 x4 123 +8 3,072
OZM2A2IRI23E 39 &&Y
70,0003 *8H »23| 1,120
OHAZFE M=+ 700,000 +1H 700
O=g - A2EM2 2L I223 IS
500,000 & *23] 1,000
02 S=29| 87,628 35,961 51,667




2A:

M BREAD 5 L 29
el SA2% M8 (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
SEEE EFSIEE
3,000,000 122 3,000
ORUTHE 4512523
10,0002+ 122 1,200
OZHEAZ SARS 260, 0002+ 122 3,360
OTYTHR ASH M E3)
1,000,00021x144 1,000
OPUEHB SX24 2,000
OZ2EAZ B3l sy 400
—2zC N BoE BHI(N2) 300
—BZECAR B3 SHI(RENR) 100
OBHTAZ 52| SXP4 B
200, 0002+ 12 2,400
OBHTAZ LgOTBR (8 228
200, 0002+ 122 2,400
OBHTAZ DIlODBRAYS 448
180, 0002 + 12 1,560
OFHBIAIAE & A SXP4
2,185,00021 122 26,220
OPUTHE UESAAL SX24
262, 0002+ 122 3,144
OT-HOIH(ZRAE) RN
275, 0002+ 122 3,300
OSAOIZ2 (TS 2210 VODAHIA) RXIR:
2| 20,0002+ 122 2,400
OBBTAZ GEAH| S
187,00021+ 122 2,284
B A2 2| 27,000 15,000 12,000
OsMSsmzIY 29 27,000
—0iB - g SAnY 2 3,000
—HMDS D20 o 24,000
202 018 3,840 2,880 %0
01 =Uioi 3,840 2,880 %0
OEMZ 22 27
20,0001 #42¢x 102 x4 3,840
301 e N %0 %0
IEVEREE %0 %0
OBBTAZ SHSH T2y 2o
4,00021*1021+243] %0
405 KA S| 30,000 30,000
EREDE 30,000 30,000
OPEEHB TATY 30,000
— Al 12, 50021%2,0002 25,000
—HISH(EI, 202S)
25,0002 42002 5,000
AEIE AE 29 6,000 6,000 0




A 2aMs2Z
Y ZZCNT 2E L 29
ol SA2s IS (SH9 H2)
SA - ZE - B2(30) - HRAS of v e HIDE2
201 Let=dh] 6,000 6,000
03 Ar=EHI 6,000 6,000
O Felil 2 20,0003 %300 6,000
2tA2 29 186,187 81,200 104,987
= 16,500
o 169,687
201 etz 3| 129,344 60,000 69,344
== 10,800
o 118,544
01 At22t2l] 18,144 10,800 7,344
A2CM2 AREF2Y &SI AU
1,800,000 *6IH A 10,800
== 3,600
= 7,200
OS2 MZ SIEEFI exz
32,000 +6CH* 122 2,304
OF2A2E2IATS 2o F4+E
70,0002 6 *22] *6 4 A 5,040
2 S5=24g4l 39,200 14,400 24,800
o2 MJIR=s
250,000 x6H 2+ 123 18,000
= 3,600
[Ea 14,400
OXEENZ otk 23
50,0003 *6IH A= x 122 3,600
OX2A2 - 2= € dates
150,000& x6IH =% 123 10,800
OX2EAE ANdE A2
2,000,0002 %14 2,000
OLME2EAME s FAE=
200,000 * 122 2,400
OHER2EMA2 52| SN2+
200,000 122 2,400
03 A= I 72,000 34,800 37,200
OXSENE SAESEZY 23
12,000,000 *6H 2 72,000
= 3,600
o 68,400
301 2= 2,400 1,200 1,200
11 AALAEIXIE S 2,400 1,200 1,200
OXSENS SAESHEZZIYE 29
4,0003 x10E *102] x60H 2 2,400
401 Al HIZ 2018 12,300 12,300
01 Al&H| 12,300 12,300
OHIX2E A HH)| Wil SAt
12,300,000 * 14 12,300
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2A:

MR DRCAD HE Y 29
el SAEs ME (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
RS 2,802, 0002+19] 2,602
—Hpag 100,002+ 124 122 1,200
EE 2,35, 0002+ 12 2,3%
e 60,0002+ 124 122 720
—oixag 07,2002+ 1241324 1,064
— Az
18, 28021121+ 10AI 2+ 122 2,188
—tlelag 50,0002+ 121+ 122 600
304 i3S 5,400 5,160 240
UEEEEE 2,100 2,100 0
O=ple3 JjpEEa
175,002+ 124 122 2,100
ELEEEEE 2,100 2,100 0
OAREE JBRE
175,0002+ 124 122 2,100
M ZRA(PI 2N PHERES S 1,200 %0 240
ODENYREE JI2ED
100,002+ 124 122 1,200
BMIREA 112,500 108,750 3,750
= 13,000
= 69,500
EMDSAE 112,500 108,750 3,750
= 13,000
= 69,500
Y ESEE 112,500 108,750 3,750
< 13,000
u 69,500
201 LerE | 57,500 62,500 5,000
< 23,000
= 34,500
G BAEL 57,500 62,500 5,000
OFMIY S22 REHSE 22N 57,500
< 23,000
= 34,500
307 LU0 A 56,000 16,250 8,750
= 20,000
z 35,000
RPN 65,000 16,250 8,750
ONA=E BMDS BEF U 25,000
< 10,000
= 15,000
OsolSHRSI IR T2 K 30,000
< 10,000
= 20,000

&




2A:

Zu: #me
s Jl=2ghl EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
BH2IAH|(2e S22 28,050 26,782 1,268

=38l 28,080 26,782 1,268
JI=23Hl 28,050 26,782 1,268

201 fer= 3| 17,526 16,270 1,256
01 At 2t 17,526 16,270 1,256
OANRE H2HSE 600,000 43 2,400
OARY |2l 25 250,000 43 1,000
O=AD| Sit= 660,000& * 122 7,920
ONSA =ABX 72
25,3002 ¥ 158t A% 123 4,554
O&=)| gz 59,900 1CH* 122 719
O3J18&87| ZU= 77, 7103 * 1228 933
202 04l 4,704 4,872 A168
01 2LHoIH 4,704 4,872 A168
OFAMEZ =0
20,0003 x28H 122 *7(f% 4,704
203 HR=AH] 5,820 5,640 180
MU FA2SHIFII 5,820 5,640 180
ORAMEZE =4 485,000 123 5,820
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